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e X(M): A4S —2K

* B;(M) = B;(M;F) = dimp H;(M;F)  (F :4K)
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E M (Heawood DA% 2\ 1890)
PRI M Do ER=AEDEIDFET 725

(", 7) z 32 x0n)

o X(S!xSH=0= (";")>6 =>TEEHv>T.
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E M (Heawood DA% 2\ 1890)
PRI M Do ER=AEDEIDFET 725

({U ; 3) > 3(2 — x(M)).

GEAR. e, fZIB-EDEHET HE, ROKYIILD
v—e+ f=x(M), 2e=3f.
t&(fEZEELQORDAFRICKAITNIEEEART
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EH (Ringel 1955, Jungerman—Ringel 1980)
M # S5, No, Ny % @i 72 BAfmE & 95
M O v TER =M 5 E D FE

o ("’ ) 3) > 3(2 — (M)
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Open Problem
SIRIEh—TFAS! xS' xS' 2 =AFNET 25
WAFTEREUS 15 A E B 7

nRITTb—ZRIZIE 2" — 1 THER =AML BINEFE

Open Problem
S*x §* DI4TEAZARENIFET D07

Ot

S'x STD=ASTENDIERE > 2+ 5+ 4.
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EH (Brehum—Kiihnel 1987)

M : FAnZHRAK, Hi(M) #0 (i < %)
MDDy ER=ARTEPEE=v>2n+4 -0

EH (Kihnel 1990)
A4 Z 8RR M IZ v ER ZATESEIVNGFEET 2755

(v ; 4) > 10(y(M) — 2).

E/NEAHHREZLD
S? x S3, CP?, (S? x S?)#(S? x §?), K3
12THR 9lEM 1216 16TH R
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EH (Novik—Swartz, M (conj. by Kiihnel))
PA 2k Z Rk M IZ 0 TER=ATE 0 IDFEE T L

v—k — 2 2k +1
( k41 )—(k+1>’8‘z‘m[)

12 ARTDU T ORERD—HE
2omre: (V7)) > 3(2 — x(M))
4RTT: (7Y > 10(x(M) — 2)
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EH (Novik-Swartz, M, Bagchi, Datta-M (conj. by Kiihnel))
B n AR M2 o ER ARSI EETIE

—m—1 2
(’b ;l )2 (n;— ),81(17\’{) ({EL, n > 3).

FBRRAL = M = (S"1 x SH7 or (SP=1 xSt#A

B/IMNERHENRESLLD
(S? x SH7F (S2 x SH#F (k=1,...,8,10,11,14)
(SQ % Sl)#99’ (SZ % Sl)#ZOS, (SQ % Sl)#357, (SQ W Sl)#546’
49TE R 69TH R 89TE 10978 ;R
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e £;(A) = ADFDIRTEDER
o IRDEF7Z f-vector &N
f(A) = (fo(A), f1(A),.... fn(A))  (n=dimA)

f(A) = (fo, f1, f2) = (6,12,8)
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THL (Klee 1964)

ABSE 0 ZHAK M O =R EI75 5 F(A) 1
fo(A), ..o, flz)(A) & x(M) o E S

ﬂ. 3?)’?773(71:3)0)1%{5\
fo—fi+fo—fa=x(M)=0, 2fy =4f;
— (f07f17f27f3) — (f07f172f1 — 2f0;f1 o fO)



L"-vector

A (n— 1) RITEIKHIEF
h(A) = (ho(A), hi(A),... . hn(A)) ZRTERE (f-1 = 1)

hi(A) =300 (1) (477) f-1(A)

512 H(A) = (h(A). W{(A), ... . WI(A)) ERTER

hif (A) = <

\

(hi(A) — (?)(Zzzl Bi—1(A;IF))

ha(A) = (7)) (2021 Bim1 (A F)),

¥ : f-vector & h"-vector (XFMRBERZITFDO



@ h"-vector

.
Bl. 1// 1 f(A) = (9,27,18)
Nz It
B B.A o 3 h(A) — (1767 ]-27 _1)
WA HEEE
(1,9,27,18) =+1 x (1,3,3,1)
6 x (0,1,2,1)
+12 % (0,0,1,1)

—1 x(0,0,0,1)



@ h"-vector

fAll.
1 4 7 1 f(A) = (9,27,18)
2AA‘ 2 G
A= BA 8 | h(A) = (1,6,12, —1)
4 &
h//(A)

— h(A) o /61 X (070737 _1)
— (1,6,12, —1) — 2(0,0,3, —1)
— (1,6,6,1)



@ h"-vector

. (A)
1 4 7 1
ZAA ,  =h(A) =B x(0,0,3,—1)
A= 3% 6| =(1,6,12,—1) —2(0,0,3, 1)
// = (1,6,6,1)
LV Bkl

EH (Novik 1998)
A DA ZAHF TR n ZHRRIKD = A 575 5

RIA) =1 (A (i=0.1,....n+1)
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o F: (EE)K
e A JERESE{L 2, ... ,n}E T BIMZRBEAELIR
e S=Flzxq,...,2,] : ZIARIR

o RDIRZ(AF_LD) Stanley-Reisneris & &5
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R = S/I: Krull JR7TdDiREAT F 1K
ARADH O = 01,...,0 R (sop)

Py dimp R/(OR) < o0

0% 0 b\ﬁﬁxlﬂ%(lsop) < deg6; =1 (4).

EF (Goto 1983)
ROAFT L3O, R) &K

@R+§:9h“.wu 1) :r ;.
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EH (Novik-Swartz 2009 (+M-Novik-Yoshida 2016))
AR nZHRIK M O =A7E, R=TF[A], © Isop,
hY(A) = dimg (R/X(0; R)) .

EHE (Novik-Swartz 2009 (+M-Novik-Yoshida 20167))
A=R/3(O;R) T 5. MMAHENITAIgE/REAZ
BRAK72 5, AIZIRE n + 1 DRT ¥ 7 RO
Hs, A, 2F T, IROBELDPIERAL

Ai X Apy1—i > Ap1 =
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E M (Novik—Swartz, M (conj. by Kiihnel))
A DA 2k ZRRAR M O v TER =AE5EI72 5

v—k — 2 2k + 1
> 3 M.
( k41 )_(kJrl)&(i )

F[Ll?l, . oo ,Ll?v_gk_l] Z(@, F[A])/(@F[A])
DR k+1ER 77 DFRIT DR k+18R 73 DFRIT
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m(X) = XOERED & HTTOERD B/ME

EH (Novik-M 2016™ (Conj. by Kalai))
A DGEFEZR B n ZRRIR M O v ER ZAR 2 E72 5

v—n—1 n 4 2
( g ) > (n;_ )m(f\,{).
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12 <R > HLEKEDER/NERE< 16
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o ElDIERZY (smallest known)
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